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(i)

(iii)

(iv)

cBe ganélupsasund/ Note
Baog @ gdmocd B89o secslm.
astsor alamdsendel alam HHs.
Answer all questions.

1-40 eord gaEmoe (1), (2), (3), (@) BEQciD8st BOWE ewd BONT migesm swl BERd emidh oulm.

Lapssd 40 suanrujehien gelbeur® eflearalgup (1),(2),(3), (4) eaar satefl ' L silsoLseaflsh sfumeng

S &0 GUIGESOTNE e Flset SEGIID G oNolmiad Cafatsis.

From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider

is correct or most appropriate.

880 swewn BEnd cued o o3 gdne wgwe € 4B =0 gaed 32 onid 0 889el omad ekecn

e e (X) cre ecisn,

2 ke auprsine Geaen slenlSsrafst @aGsurg olamadEsn 2 fu sl Lksaisy 2 g

siiepLuielr Berbshms @S5 el LiHBAagusn@sm LUsismpmw (X) B6s.

Mark a cross (X) on the number corresponding to your choice in the amnswer sheet provided.

08 88xo; ened Sgoe € 18 seos cuscd ¢ oeSEED o,

silenL. gmafsd Lt g aled - SIUUL Halsr HanmEs SiSeyDIghSe0ameTIID . SIS, T H Sk SisuHennLl

Mefrugimis.
Further instructions are given on the back of the answer sheet. Follow them carefully.

11

@0l dzmep wolind Dlerd wwum wowesl S8 Res ¢?
erorfily gefflelr Lemurs Sienwsud elieipeiansubmst sigi?
Which of the following is the function of a sharp?

g

(2) Itlowers a raised note by a semitone.
(4) Tiraises a note by a semitone,

(1) Itraises a note by a tone.
(3} Itlowers a note by a semitone.

8 de wBrtien SO0 g0as edud dn swn wgwsl 218 s ¢?

Syiuc Heier ury Sevant Lgedl UGSHSDEES Coansuwmar Giredl sinnmaasubst g ?
Which of the following rest is needed to complete the given bar?

&

*

2
we T T,
(1) Dotted Quaver rest (2) Demi Semi Quaver rest
{3) Hemi Demi Semi Quaver rest {4) Semi Quaver rest

a18 oli 8200 gyt 088 Bdertdda dufess vom SIS @I ¢?

SouL_ Beiterr uny @bl GluTGESLone b FAECmFsy Heatalmaseubhpst &7
Which of the following time signatures will be the correct one to the given bar?
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. lfe@iBn @8nl Hedeu pulediBs m waBlemd gnd ¢ ¢$00 auinde gedsien! cwvm tgmnl | <

O Bodem @D emdd S0 wmdm 088 fidesibded Bebbll oy Bu S8 ¢?
urr gafler QUi @Smndei (e prerdst enyb AEGarFsfer GOSN UMD HHmE GURESGD?
How many quaver pulses are there in a bar of the time signature, four dotted crotchet beats in a bar?

(1) 3 2 6 3 9 “ 12

F 88moed ¢cedt eddced B 8deidda Bamw HBEndt mdo owm wewxsl S8 0o ¢?
F enwemfls AGeupaiisl Gingoflsh & HEGarssany eigpmnd Ffiwmar apsom Ldieupasieubuysi s15?
Which of the following is the correct way of writing the key signature of the relative major of F minor?

1"‘“" 'b P I fy |l} k ;
(1) 9z (2) Y 3 B 4 o>
Sy B—p a2k
L 7]

C @8mded ‘B8: emid’ om oBul derfcan ‘BHudd’ dm 6@ @ b, vwm wewxs! S0:8:8 08 derden
& ¢?

C cowerfled ‘edignr Gum_" eyeng Sl ebGmelst ‘Wipwedl' ol Cuiaiper@w. Jaeumesnsubmst Sibo
arbBsmsd e1g?

The ‘Leading note’ of C Minor is the same as the ‘mediant’ of 2 Major scale. Which of the following is the

scale?
(1) G Major (2) E Major (3) E® Major 4y D Magjor

gbedlve 00 BF8 2-3 w1 5-6 £H06 e ewBedids B3a wisen’ swe scows D18 pEm
desiced ¢?
vaiaxmsuaneubmiel ahd sbBEelat, SisuCyrsan apapuist 2-3,5-6 il sbapmbiEehddsaLuisd QElErTeien
RpEEHD?
Which of the following scales would have semitones between the 2™ and 3 and 5™ and 6% degrees in its
descending form?

(1) Harmonic Minor Scale (2) Melodic Minor Scale

(3) Major Scale (4) Pentatonic Scale

denBet @n q?“ _

aeTIGwrefis wey aLBsedsd siugCLreis, Fufiguen’  yAueppsdeiwisorar soear  Eenl Glisuet

eiteumensmedfpsit e1aflsd mm L’ Heiemgi?

Which of the following is the interval between the supertonic and the submediant of a Harmonic minor scale?
(1) Perfect 5% (2) Diminished 4t (3) Augmenied 5t (4) Diminished 5%

B 88x0ed gief fubed embdes con agnsd SDkst n@s o7

B mweafleir Lsnrond nul  sisbeonssl sisumeusneubistt g7
Which of these is not a Primary triad in B minor?

82 D obsl deeo owm 8O, E 00w Bo wden

BEset D Guogr ebGsmemsul unBGura, E Elbd 6UGHILFGE DIHDWSHDHHSH

e

When vou sing the scale of D major, the note g would be,

(1) Doh (2) Fah (3) Te (4) Soh

V-1 Bum 30 gomecs edifis emdh derd 63006 s wenr? DBt e ¢?
V-1 @ agpesubburg msallluBh Ggrels Camges avab dmimomabmet ag?
Which of these notes is omitted in the tonic chord when V7 — 1 is written?

(1) Root (2) 3d (3 5% @) T

R

[ 3 53 800 DeEm. / wh. 3 gl unhda / See page 3
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14.
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17.
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20.

12. =9@ Dimsed BeREH Bas Bed &7

@eunmbElSSed agmmmm FeoLshmer B_siteran?
How many syllables are there in this sentence?
“Humpty Dumpty sat on a wall”
(1 3 2 9 3 10

Beaddm v w®im eucin w.dm preddo e ¢?
@Burallst @eldgs Fwwrar Bephesul Bmebhamel wng?
Which oriental instrument sounds like the ohoe?

{1 Esraj (2) Tampura (3) Horanewa

won equd J2iBy «Dd po Seddert OGN e €7
Usireumeneosuppisti s1aflsh cpsiign srbsuNTBST  STEMLILEID?
Which of the following consists of three notes?

wm g (@) A @

b EepD Beluiess
3 o o) T T 3Ty SR )
The auricle is in the

(1) middle ear,

(2) outer ea, (3) inner ear.

s 2ews! sn0DDEW “eg@ectt Om dofn ¢D....." Bma gut Duferd PO ¢?
s6im UTLSY 615iME o flebsmg?

Ueiiauhtd FrLshisefst “tIGrwtwer wen jehdls Go......”
In which of the following plays is the song “Premayen Mana ranjitha We
(1) Kalagola (2} Sakunthala (3) Rajathunkattuwa

opn DEimeds’ Sudod enedy 0@ gus Drlexs)
&gUT BLarhSemmed NSHHflbslLBin HmL
Gajaga Wannama depicts the gait of the

(1) Horse, (2} Elephant, (3) Hare.

NDOBORE 0o emmod B et vom $Di8 nds ¢?
BIL GRG0 LISLBSSILILTE Raosssmal Asieupeuaraubmst eg?
Which of the following instrument is not used in Nadagam?

(1) Flute (2) Harmonium (3} DMaddala

egdor® Blls wems Ao B viden
UGITAMD SenFEEFE 2 SHITEmOTS SIGMDISHSHEHS]
An example for Programme Music would be

(1) 1812 overture. (2) Clock Symphony. (3) Toy Symphony,

@I0C0R) eddiews Drles swn Jodst @ ¢?
@ALJULE Bal_siiord ous ovemioaugl LsTrenpouerennmet sig?
Which of the following is an Interrupted Cadence?

ooooooo

i

@ 11

(4) Nadesvaran

4) tr

(4} cochlea.

"

sung?
(4) Maname

(4) Monkey.

(4) Tabla

(4) Moonlight Sonata,
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21. &1Ged Wecd wibn novier’ vus wew: pBm By Hiedfbo &2
21606 HGeml Sememl LwWsTUGSHIuE NeicuGid sbg Blenedomell?
Which of these instruments will use the Alto Clef?
(1) Cor Anglais (2) Violoncello (3) French Hom {4y Viola

22, ‘ebrdle;s chmn MR tofmigns Diter’ mfdest ¢?
‘Goumsol_gor’ FHemswr aipBTH RevF DS wny?
Which of these composers did nmot write “Waltzes'?
(1) Schumann (2} Johann Strauss (3) Debussy 4y Chopin

23. Acetfewitss Drlest o®D8lst @ o7
Boubgen ag QF @IELMILT SEHID?
Which of these is an oratorio?
(1) Eine Klein Nacht Musik {2) Ercica
(3) Messiah (4) Lohengrin

24. B0 wolln B2etDu® ouumo @O Sousl S wisie=]
Uligsbert @snsh@Gp UTEHL @b UTLETES HshldSHES
A song by the Beatles would be
(1) You raise me up. (2) Flow Gently Sweet Afton.
{3} Yestcrday. : {(4) When the Saints Go Marching in.

25, »Eed ® Sead du qEBOD o il 9f meg g ¢?
saH gburmame THRSabBEGDRE TRbkETsmn Biforamdse wrj?
Who built a theatre te perform his own operas?
(1) Verdi (2} Schumann (3) Berlioz (4) Wagner

26. emozndibm ved §PGH0 A pdm erdd dexf ¢?
Qe L @eihled (pHeoTOIGE (pelGosH’ enhh GuMA Simoub? -
In which form is the 1% movement of a Sonata?

(1) Binary Form (2) Ternary Form (3) Rondo Form (4) Sonata Form

-

27. Boem=gtn Sucmiisd Bifiewns! @ S8slex! vwn egpwsl p0m exmded ¢?
ehiswmip smhel Lfelst gaEelgn @epsd oifEsnaleoma LM SI&sn GHOUT]&6i?
Which of the following sections of the orchestra has the most number of players?
(1) Percussion section (2) Brasswind section
(3) Swing section ) Woodwind section

28. o5y dned o Bdad emedyies] o Syl p@B8s ¢?
Lsitsuimenemeunplsh ergHedt clpsitb Beumedl s qaiin uipnd sfleufl&siLGaBgs?
Which of the following describes a Waltz ?

(1) AFrench dance with 3 beats in a bar

(2) AViennese dance with 3 beats in a bar

{(3) ALatin American dance with 4 beats in a bar

(4) An Argentinian dance form with 2 or 4 beats in a bar

29. puiom docecy sdslonien owm vewst pBm Dabo &?
Nedreugnis oMb Loun’ cipelipreugd eroeuTHBled Surnls@n?
Which of the following positions of a triad begins on the third note?
(1} Root position (2) First inversion (3) Second inversion (4) Third inversion

30. 8D foved Ovdest con wgnsd SO0 9@ 2
LTaireupeuaTaUBRIST @b 6l DE SIS g7
Which of the following is a Lied?
(1) Clair de Lune {2) Who is Sylvia? (3) Elijah (4) Bolero

[ 586 800 Dam. / Us. 5 g unGes / See page 5
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31.
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35,
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B D o8B Bl Bedm 8 o Dulew!
SIUUCHeTen @enFl QUi SenhEHETET & Siaugl
The following music piece is in the key of
(13 F Major (2) B Flat Major (3) E Flat Major (4) G Minor

omsgesiod / ocBemBs m80d o0 we waSn Dxies’ wom SD8s! 9@ ¢?
LTeirenmEusHaumeT Glmrequsn s / GuredBumefid (penmulist erpsiLtE. HIL sig?
Which of the following compositions is written in Contrapuntal / polyphonic style?

(1) Moonlight Sonata — Beethoven (2) Sonatain D —Schubert

(3) Prelude and Fugue No. I — Bach {4) 1812 Overture — Tchaikovsky

ebfedes! eni® dewsl 718 wilics Dules’ own wgws FDBs o ¢?
Haenpeuaraumbmst CafGwagss Guramwll ULwWeILGSF W ener Ered egl?
Which of the following compositions is in Variation form?
(1) Handel — Harmonious Blacksmith (2)  Beethoven - Minuet in G
(3) Chopin — Minute waltz {(4) Bach - Minuet in G minor

pon sdmed cEvamor embdes owm wenst HD8st e o9
Heiaumeuareupmien pofer Semgulsn LN DIEENSE 6157
Which of the following is not a characteristic of modern music?
(1) Chromatic Harmony (2) Syncopated rhythms
{(3) Unusual sound effecis (4) More than one melody at a time

Gortedenifo taBm wredtins embsies tan S8 n@ ¢7
Ueienevemsumpsit Crelr Gurdry @amFssmel SOTEHF arm?
Which of the following is & non-transposing instrument?
(1) Piccolo (2) Donble Bass (3) Trumpet (4) Oboe

‘In a singing style’ 3¢me iRl ewigm 9m eng® pun dDds 9@ 7
WeiteugpsuedsuBms Tn a singing style' St Renganly QaislluGdsiarabel LWSLGSEILIGD Bisrelull usd

anEl?
Which of the following Italian terms mean to play ‘In a singing style’?
(1} Calando (2) Crescendo (3) Cantabile {4) Con Mota

36 80 40 80 ¢85 pdm 0w & g8 082 DEOa @ vee® ed. * oo v
36 Ggm_sasb 40 eusoquner ellemdssT STOUCL el GUWlamy SIglUE TGS Qe meal.
Questions 36 to 40 are based on the given extract of music,

[ 66l 800 Book. / uk. 6 g unka / See page 6
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¥, 208 B D g Dendhd @ ¢?
abs Besll Gy e_stan gl @buyr agl?
In which of the following operas is this music extract?
(1) Fidelio (2) Carmen (3} Lohengrin (4} Magic Flute

38. w8n Dedic gluimed @i enlbzine cvn S018:3 e ¢7
@t Gl @mguisd 2 siter CsLsierd 1eiTeuheasnsuDmIST o1gI?
Which of the following is the cadence at the end of the music extract?
(1) Perfect (2) Imperfect (3) Plagal (4) Interrupted

39, o®@ aedn JOmn Be wBmmm mwhoes &?
Sbs Gl GUTUeIL srgpBur BlenedEemenehi wimy?
Who is the composer of this piece?
(1) Mendelsohn (2) Wagner {3) Mozart (4) Verdi

4. E oS woBn 2 Digmo g @) edow
STUU  Geten Bemar Geojlisn, @enFds Ssuswigul Beusip
The given mmsic extract should be played at the following speed
(1) Very slow (2) Atawalkingpace (3) Quick (4) Very fast

[ 7 &6 500 oeste. / usb. 7 g unjss / See page 7
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General Certificate of Education (Ord. Level) Examination, December 2017 |

Bme (pedt®) I, H
FrESsh (BoamagGHs) I 1
Music (Western ) I, 1I

BoBe (gediw) / smudsn (Cmagtsw) / Music (Western) 11
SRS oadmed o man gadm HBOoN0 BEnpo ¢8O opad B moasis.
208 gudm smed B8md 00 meEdEs ol e gul.
wHemb allameybgty Goend préwg slamdssndgl BhHrefBetL slmlSmen IpHis.
el RTEEEHHET ailenLsmen g wmfulsd wrdHebe auwalisst CoteamB,
Answer question 1 and four others on this paper iiself.
Questions should be answered in one language only.

EE I B

5,

v

[ D0 gomoes / sGLen /Index No, ...

1.

@

(i)

(iii)

(iv)

wom & g Dol O gesBrlien 22088, Aol 2 w8l B0 ocud dond ewd BBuwis ewmicwlm.

BE1p HFUILLBSST LI (LpIpaLoWLImGS @Ehid. L @snawl e GHEINSHBE o ciFavl Slenet Hieg @eipidd
G L Giysrol semeng BFfoHes.

The bar given below is incomplete. Add one or more rests to complete the bar.

* *
f) R .¢§:§_
’? ) I ] 1 o1y |
& — R R
A7 ] 1]
[y ¥ v h 4

C aBst dorf eOrBis 88mded B HdesiDds w1 88 el O» 8§80 dws ece § S ¥eddaed Bavinm.
C Gwgaflé Qyrafid enwaflsr & HbBaEaampn s Crpr’ Bemamupb Wafb @apTSHS SIULLGsTen abla Ged

RUPHIS.
Write the key signature of the Tonic minor of C major and the leading note as a Minim in the given stave.

18

806 ocm 2982 910 wen g8, oG e s B WG BRedrd Bdin A 8¢ wudm wislhus »® wost:.
fret 22 1b Bosswrss SULOULBeT, 2 FEesd BraufsGlsmmbBu @nsss Qsraid sageser dpsold
gelemwih HEHD 2 usFambwrasnpl GLWfiBs.

Name an instrument where two reeds are bound together and the sound is produced by blowing through the
reeds which are held tightly between the lips.

.............................................................................................................................................

Fdecd o B 8dem30dn ewmig B 88mded a@Bmsid 7% omdd) demd 0l ewmBles? dn coB o8 § ¢if
BSedbed Eorlm.

F 83Genti, & A&Candai opusupanpl Lwenu@Ghe B ewsfled 7 sig Qumdansti’ Garl. @ed mL Gundagei
g QaFdifeisetlst syl Geitem sroLsll Feb apmIS.

In the given stave write the Dominani 7" chord of B minor in semi-breves in root position using F clef
with key signature.

A

[ 8 &5 BED Detw. / né 8 mU uriEs -/ See page 8
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v)

(vi}

(vii)

(viii)

(ix)

x)

~

1685 € com i@ ‘eDiol Bpfs &80’ dhrw e Sredns gued 83 w.dnwras COm ng §B¢0 emdced s
280 @Cedifewid »B moxim.

1685 @eb Tmihae ‘Caury By ajeh’ sgpgu LBITE Wisssle amphe B Lb@ERW eapdiw Wmustunorar
Bamyerd gsiommpd GwresiL gréLmilwrsnsul GuwuiBs.

Name the oratorio which contain a popular chorus written in the Baroque period by the composer bom in
1685 and who wrote “Water music suite”.

.............................................................................................................................................

edhsieth eni® fex ©8eaid) O emdecy Judnd mdnim,
GLTHELT GuMBsh snuiBan’ Benetsd FHESWAE allsufls®s,
Describe in brief the Episode in Rondo Form,

.............................................................................................................................................
.............................................................................................................................................

............................................................................................................................................

Buvemied ¢peh angds Sedm enfien m® 0, 8o eaid ezl 50 8bded adqwd :mf 2 Aco® wews’
mOusten. _
HurGemeliialr cuso@ILGE cpsnoouisd Sramiu@GL Quisd @we GUWLE®, Sigamanl LWsSLGSSD Gurg

erosufdEiel FhHGHIEG gbufl urgdiriemers HMlnIEs.
Name the pedal on the extreme right of a piano and describe its effect when used.

.............................................................................................................................................
.............................................................................................................................................

.............................................................................................................................................

‘Enesmy Tas$A’ B adog 0 08 o, da miifand ¢, OO ¢ csin Bgwsl aduln.
‘wirgan  HOeAnES” aeiy OTLenend LETEIL  BIS&mel Quurfifs. i@ BITSEWIT  HaE  [BILSON
eSS G Gs.

Name the drama which has the song “ Vasana Dineki”. State whether it is a Nurthi or a Nadagama.

.............................................................................................................................................

so5 6800 OF BY dewnmsl @ & g8 secd teomd Basim.
&01p S Geiten avatiGmen ES LIE @SB S Geiter SBeml @ aIpSIH.
Write the following notes in the same pitch in the given clef.

gt

¥ o
P A L I :
' L * ! .Y ] I T L7}
[ & an W E I K I T T [ T 7
N4 1 i ] & CE—]
o/ j -« - - A

wom § g 00 asimde »® wd, 88 9uiDlies’ tw G A ded Surle.

&Gy Sy Geiten evalyr BeanjGosh @aentl GUWILG, Dima @eiBaragama Gabm Lmfleb apHIS.
Name the given interval and write its inversion in the empty bar.

Y0 | |
T g | |
2 = | |
= | |

.................................................................................................................................

[9 &% 860 Besw. /- ub 9, gl uriss / See page 9
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(ii)

(i)

Faerd ewic, 8 Bderioded wibis wmnds g milier s @8m delc 9o quedines o adedineg necd
eg100d 0BT Budim. el ewig euBedisd scnw iy,

F #Gsn) @ewenls LIWSILGSHE, & FECansoflanr Ereig agnjlsserd GsTaii@ anmiorais s s
Bensy o BITEe, SIubyTsam (penpulsd GEITEFFL @b aupFs. shsofen CFIha OFICITEIND Rb GYlEE.
Using the F clef, write the harmonic minor scale having four sharps in the key signature, ascending and
descending in crotchets. Mark semitones with slurs.

BBl Dged DEG 8 F oSl 8 «c emg ave 8 4y c®cDar Sithes ndrim. guife al oo
@00 Sl 08 »J g1 etndl e dms eEE e On eces Bur ST goed edud O ewig
wnliam polm,

Ebueysdi’. ujust somb Elar F apwarflalr erbsupriiesnstl LwsTuBda 4 unrsenend Gameii.  Ginl G_msiisnm
O5E% Bos unr Sl GEITFFTL 2 1 6r sl ussTemlu Geen GPTiLL GErTFFTL @senm Gpreilds
Cril e eipdl Fflwren QupoTEGHEer Gfebl gaiemnsd CFjHEl LT LBERIS.

Compose a 4 bar melody using the notes of F minor in Compound duple time, Complete the Iast bar with
the Tonic note as a dotted crotchet tied to a croichet and a rest of correct value.

| FanY
S

[

B v efnBomsid O eBull derdes abedne wo medine nosd 41380000 ewag G ey Se
Bawsis,
B deml GLmfan’ s okowwb Gy olGsmeney sieubiresw, = 8mmsean (wenpullsd e PG sinsberd

Gardm G AGsnl B awsIs.
Write in the G clef, the major scale descending and ascending of which the B flat is the Dominant. Use

accidentals.

g 18 DOmOEO edemicdime:s wibn moBs! 88 b BYBrese wonim.
FHIUULBsisn Grmdsende QrGamGrran gelfenpl LWAUBGES FhoHd GBIELGLOTGTEND BIEGHS.
Write a rhythm pattern on a monotone to the given words.

Down yonder green valley
Where streamlets meander,
When twilight is fading,

I pensively rove.

[ 10 &8 608 deaa. /- b, 10 g unfds /.See page 10
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(i} B oS 3.8 DD 2800003 gl e Heoed sctien mOn Sasim.
EIULILGeiten @ensll Quuijieny @aGL6 e Gwsurs prush 6l Caisg e LS.
Rewrite the given extract an octave higher in the treble clef.
¥ = —F 3
2L ' =
(a—

(i) @ 1B e@EHw DS 0 e0tid udo & 15 O8R Buedownd gmd BO1080 BeEd ewmtieen M€l 2 O
Eaxim.
SIOUE Beien Qoeogsnus sveupd, Grebl yauenhpe s sriu Beisn b HsCaErmede <emow FuTS
H@onL1 GCHIHGH @HIewn1oneba et s1EpHIs.
Rewrite the given melody with notes and rests correctly grouped according to the given time signature.,

.-

3 3 N \ 3 3
e e e e
"
7 23 3 x *

4. oom € o edn B gloone 0d g ¢f pEndca 88nd sewsio.
&8y il Heren Banolr QUWtieud sbm BE &OUC Feiter aleaTEEEHEG sl SI(HHIE.
Study the musical extract given below and answer the questions,

|
> 1 1 J 3 | | | 3 1 r : 1
"““F"&i —F * — : rA| il — |
Ped. 9!68 Pod. % o, simile 0 i 2
7 /‘3—\\\\ 9 8 g e, .
1 1 I;' Il\ ,‘iN’\ % : IE} -ﬁ&——
i ir {I E’ ?‘L”‘.;_H.:J (/' 7 74 : ¥ - I
Y I\-..__(__...-“" 3
St jﬁ ] = ;‘fi . j’—%
| | B % | 1
13 14 15 16 17 18
/’T?’—\ 5
L T T 1T 1 a* E I 1] 1 ;\ 1
‘ '#r F fjlo Iél;' :II rJ}.
¢ == — - 4 ’-’:Er !

il
i
b
m
:
2

—

[11 85 805 Dame. /- nk. 11 @i uniés, [ See page 11
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o

u

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

\
(2) @@® .8 DedDa vdxs eufm B Om @ ¢? (b) &z gdenl OHm B S 8 wdudm.

(2) @bs @eosl GLUL absh & B Gen kgdina? (0) o Puampb & @oal GUURGS.

(a) In which key does the music begin? (b) Name the key in which the extract ends,

£ TSP PU PP P T T ST P PP PRSP
) T OO ST PPN

@@® =.Bm mredhed 088 #Bderidds Budnd maxim.
Bhe Bensll Quuitnils b AdGamFFamy alauflhgs.
Describe the time signature of this music extract.

.............................................................................................................................................

@B mifics COm WO led, BBy B8 O Hbdrama 8868 enuddn B8 1797 cos cif eh@ 0= goed
e an D88, wBmmoed me temdll deus tyen ddmed Gomls.

Cegmoai 8. Bemen eybau GLimena@E s 1797 Gieb LipbssumLorear GEruordigd Whsden @eng oi5HE
QBT @bs BI60 apEIL L&, Blens sydaenfien Guteny abBary @ed GUIBSHONT Bt HHD SIIDHIE.
This piece was written by a Romantic period composer born in 1797 who was credited with creating the
German Lied. Write the composer’s name in the appropriate place in the score.

3 S B0 Do 80 4 O @l D gth A ece Bene ©d ;S eShsien »8 »d, 8 dn equo! wivhs.
3 syaug Lnfledpha 4 oy uny amguls A awd @EOILIUC Gser CELeied @ewsrl GLwfir B, &
Benend GUlGS.

Name the cadence used in bars 3 to 4 marked as A and state the key.

.............................................................................................................................................

9 £ ol V@3 8D 10 O Bl O £:580 B o eans o0 g otdulne 28 nd, B O wewsd monin.

9 syeugi urfiedmibE 10 ayaig ury aspuls B aeis G@EUOILOUC Gsiteon BsLsiey Biswent Cuwfll §, &
Glened @UIUIGS.

Name the cadence used at bar 9 to 10 marked as B and state the key.

.............................................................................................................................................

3 D 2l 00 w8l g T, sinmle BCReh Sedms dsim.
3 syougi UM Bies dprsaster  Fe), stmide  saip griulieoL. siaflbes.
Explain the sign g, simile given below bar 3.

.............................................................................................................................................

=88 aalbed e01Rs B de 88 emdd dn cuddeddld eed Bumim. ]
G5 Geet GuUTLTE Curaisr £ Bai eSip CET’ Bosl BFOGENTS SPEHIS. E

Write the leading note of the tonic key of this piece as a semiguaver.

@88 B Peido e@iDeld edd tenB Drwms Be B . deol derd gy Gomad vigens &b
eOBemn guifieen Guuim.
@hs Sl Quuilssu Gom 8n' Buab Hd Bensss GG, svGary @ GUIEHELTIN BLHHIHEH

gpp elgd@ed GrbGur Hengboagd Eened ADEZS.
This music extract should be played at a moderate pace. Write the appropriate tempo indication at the correct
place in the score.

=B deided owme B gedByel 00 Mo endew:d Bund mduo.
BengFil GuWnied LWSUGSSUUL.Been GiGrausoy soeuri: Lg@amuE shEEonE alaflsgs.
Briefly describe the irregular note group used in the music extract.

..........................................................................................................................................

.........................................................................................................................................

[12 &5 BER Bgode, / ud. 12 a0 umbs. / See page 12
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(x) 2 R Boced (5) wonst B0 mB wdn dethed erlodE ewltlid wd wdm Cusim. Wfld adm g wed
@B0DE S mE »OuTm.
Sroul G Umfled {5) @@L Geter [ QrLush sbLsl @ed (pseomangl BeLsusd @ememi  GLanfil G,
genany @en Jeusimensn Hefiauft. GFUS SeHBD aupHS.
Invert the intervals of the given bar 3) in the Treble stave and name the first inverted interval.

h # R
T 2 !

B E o s T 1| =) 1 O

5 () =om emtsisd Bostm. @@a@maﬁ’@ T2 Hzp @edDeleacsmd wdeh @wacsiz.
#Cp Fyinn Geien BulLalat oy AWSS oF CELden @beg wisAne rmflesss. 7 soumss Qolbs.
Write the following cadences. Use the Dominant 72 chord in one of them,

a f
@ _—,g O
oY  Tan]
D, o
'5,}: 5}:

Perfect cadence in G minor Interrupted cadence in D major

(ii) &0 eeal:d gur BEmo; Aaiio: emtien e®® ebclc ulytea nosim. orgeum edRewd, eyl wo
O3en8sed eErpes il eBREnd ®@ eamigsin.
@8y unsriulevsminhd ellent B Hisui Gloreanpl LWsTUGHS Bibe Gy Semenll LT iILGhgis. GUTGSHLTR
Grb€ur, Sudni, entemfbat o GULIBsamenl Wrem GlosuigsEd Caids.
Complete the melody by adding an answering phrase in the same styls. Add suitable marks of tempo,
phrasing and dynamics to the complete melody.

\
- \ v
SsSSssEseE Si= =St

EE S Soi

(iii) owm @mOzDN wlglamecnt Bamtmn.
Ulsiteupie gemeioein st g3 (LPIPSIDWITE  61(HEIS.
Write out the following ornaments in fall.

Y
17
{
[

[13 B BEP feam. / uk. 13 il uniss / See page 13
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6. () (1),(2) eso (3) oees € &S @050 o Dednd wdedm. (4) w2 (5) oEe ¢St e go wdsl vrgesm
ed® Bordm, edd® gen® eci enm emid (FOwm.

" (D, (2),(3) owend Hoian Hehwer Cam. Hsvdsiusemnen  shoufidsgs. @),(5) aear Sleodsith (1 (Rl srbanmissEhEdES
B GuTmSSWTeN CHrl Samen spEis. © Symosr GsobaEfEasil LWSLGHS Gorlsmerd GHUIIGS.
Describe the given chords numbered (1), (2) and (3). Under each of the notes numbered (4) and (5) write a suitable
chord. Indicate the chords using roman numerals.

(1) @ _ @ 6
S= =
.

_ }
et

Chord indicaticns — _ — —

&
sy

%

.

4

[t

TJIN®
T®
L
TTTe™

(i) 2 @8 eosin =:8m SO0 08U B HO0DED ivbome wIwm.
SI0UC Gelien ZenlpdCHu Bens evagiismet GmaGHGaL Bme ebsurtisamts Gom oSS,
Convert the given oriental notation to western notation.

To| @8R ER| B0 uB|ood Bole ® o

(iii) & ErBc 28d onoE @ 0, 98 dd emg iz 550 4l (gfnd) Brnd mdsim.
SrodienssGiw Cosims BrsHansl Guufll §, Sis LWLSIKBSSULEL Ls@ainy FbETimsanen (sflordbseir)
alsuflb s,

Name four Sri Lankan drums and describe various occasions where these drums are used.

..........................................................................................................................................
..........................................................................................................................................

..........................................................................................................................................
..........................................................................................................................................
..........................................................................................................................................
..........................................................................................................................................

..........................................................................................................................................

[14 &5 850 . / us. 14 @ unjés- / See page 14
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7. (1) & S oden oBgbien wowim.
SIULL Bl uBslemull gsmliuGHEIs.
Complete the given paragraph. N
Ludwig Van Beethoven was 8 .......coeviniieiianinveniiininnnn, period composer born in ... .
He was called the .....oooiviiiini e . He wrote ......oc.0v sonatas
A e, Symphonies of which the .........o.ooeiiiiiiiiiiinn . Symphony has a chorus in

the last movement. He became ...................cceee, at the latter part of his life.

(i) =os mBOES nws enic evm, S0 D2 BE eBaxis) wo I RO Dlved WeSsl ¢ acwed morim,
leiTeugplD EITGUSEGHET qpsienmd GsflatFuis, sopap oAU RMF DLEGETSMEAID SEHal  6THE
Emb&Esh st GaiiniGa.

Select three of the following compositions and give the composer and the type of work.,

Name of composition Coempose Type of work
The Trout Quintet :

1
2. | Musicforthe Royai Fireworks
3. | The Hebrides Overture

4. | Rigoletto

(ii) eseor qmﬁ)&) B8mcT L3I,
vlehenpeuamsu@meit stansuGUanild pEpheE sl aupEsIs.
Answer three of the following:

(a) Explain the term “transposing instruments”; naming two such instruments.

(b) What instruments are used in a String Quartet?

{¢) Name two percussion instruments of definite pitch.

(d) Name three instruments found in the woodwind section of the orchestra and state the clef which each
one usually employs.

..........................................................................................................................................
.........................................................................................................................................
..........................................................................................................................................
..........................................................................................................................................
.........................................................................................................................................
..........................................................................................................................................
..........................................................................................................................................
..........................................................................................................................................
..........................................................................................................................................
..........................................................................................................................................
..........................................................................................................................................
e L L e TACETE PP T
..........................................................................................................................................
..........................................................................................................................................
..........................................................................................................................................
..........................................................................................................................................

..........................................................................................................................................

..........................................................................................................................................




